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Question 1   Primary 2 Math » Primary 2 Math (Term 2) 1 pt

Section A


Question 1 to 8 carry 1 mark each.

For each question, four options are given.

One of them is the correct answer.

Make your choice (A, B, C or D).


Fill in the blank.


7 x 3 = ________

A) 27

B) 21

C) 10

D) 4
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Which of the following correctly shows the total number of books?

A) 5 + 5 + 5 + 5

B) 4 + 4 + 4 + 4

C) 4 + 5

D) 5 x 5
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18 ÷ ___?___ = 6


What is the missing number?

A) 24

B) 12

C) 3

D) 4
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The table below shows the lengths of 4 strings.


Arrange the length of the strings from the shortest to the longest.
Which one of the following shows the correct order?

A) D, A, B, C

B) C, B, A, D

C) C, A, B, D

D) B, A, D, C
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Mrs Tan gave 40 candies equally to 4 children.

How many candies did each child get?

A) 44

B) 36

C) 10

D) 4
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Hazel had 8 friends.

She gave 3 tarts to each friend.

How many tarts did she give to her friends in all?

A) 32

B) 24

C) 11

D) 5
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There were a total of 9 goats and birds in a farm.

All the goats and birds had a total of 26 legs.

How many goats were there in the farm?


A) 16

B) 10

C) 5

D) 4
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Ali has a ribbon shorter than 30 cm but longer than 24 cm.

He can cut it into 3 equal pieces as shown below.

How long is Ali's ribbon when he cuts it 5 cm shorter?


A) 32 cm

B) 25 cm

C) 22 cm

D) 19 cm
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Section B (Total 10 marks)


For questions which require units, give your answers in the units stated.


Study the picture below.


Choose the two correct division equations based on the picture.

A) 9 ÷ 3 = 3

B) 10 ÷ 2 = 5

C) 12 ÷ 3 = 4

D) 12 ÷ 4 = 3
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Look at the picture below.


Find the length of the pencil.

Accepted answers:

7 cm

7cm

7
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Fill in the blanks with either 'cm' or 'm'.


a) The height of a giraffe in a zoo is about 5 ________.

Accepted answers:

m
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Fill in the blanks with either 'cm' or 'm'.


b) The length of a paper clip is about 3 _______.

Accepted answers:

cm
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A piece of wood is 36 cm long.

It is cut into 4 equal pieces to form the square below.

What is the length of each piece of wood?


Accepted answers:

9 cm

9cm

9
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Section C (12 marks)


Hui Min bought 5 packets of cookies.

There were 3 cookies in each packet.


a) How many cookies did Hui Min buy?


She bought _______ cookies.

Accepted answers:

15
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Hui Min bought 5 packets of cookies.

There were 3 cookies in each packet.


b) Hui Min then bought another 2 such packets of cookies the next day.

How many cookies did Hui Min buy the next day?


She bought _______ cookies the next day.

Accepted answers:

6
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There were 28 pupils in Primary 2Q.

Miss Lim put all the pupils into 4 equal groups.


a) How many pupils were there in each group?
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7
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b) There were 30 pupils in Primary 2W.

In each group, there were 3 pupils. 


How many groups of 3 pupils were there?


There were __________groups of 3 pupils.
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10
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Mary needs 35 cm of string to tie a box.


a) She wants to tie 2 such boxes.

What is the total length of string she needs?


The total length of string she needs is __________ cm.

Accepted answers:

70

70 cm

70cm
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Mary needs 35 cm of string to tie a box.


b) Mary has 20 cm of string.

She does not have enough string to tie a box.

How many more centimetres of string does she need?


She needs _________ cm more string.

Accepted answers:

15

15cm

15 cm
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